

CUET (UG) – MATHEMATICS

Chapter Test - Unit II: Algebra - Matrices

SOLUTIONS

www.udgamwelfarefoundation.com

**For Best Mathematics E-Books, Visit:
www.mathstudy.in**

www.udgamwelfarefoundation.com

MASTER MATH FASTER & SMARTER!

Your Ultimate Digital Math Companion for Every Exam & Every Dream

✓ CBSE • ICSE • ISC • JEE • SAT • CAT • CTET • CUET & More!

Why Choose MathStudy.in?



Latest Pattern E-Books



Complete Chapter PDFs

Instant Access,
Anytime



Competitive Edge Gunkes



Case Study Based Learning

Unbelievably
Affordable!

For Students:

Special Features

- ◆ ****Board-Specific**** – CBSE, ICSE, ISC, State Boards
- ◆ ****Exam-Focused**** – JEE, SAT, CAT, CTET, CUET, NTSE
- ◆ ****Grade-Wise**** – Class 6 to 12
- ◆ ****Bilingual Options**** – English & Hindi Medium Support
- ◆ ****Printable & Shareable**** – Use offline, anytime

How to Order:

Visit : <https://www.mathstudy.in>

Browse by Exam, Class, or Topic

Add to Cart & Checkout

Contact & Support:

✉ Email: admin@mathstudy.in

💬 WhatsApp Support Available : +91-+91 92118 65759



💡 Why Wait? Empower your learning journey, save time, and achieve your dreams!

🌐 Explore & Start Learning Today:

<https://www.mathstudy.in> – Premium eBooks for success

<https://www.udgamwelfarefoundation.com> – Free PDFs, practice tests, & guida

**MathStudy.in – Empowering Learners, Enabling Educators, Encouraging Excellence.
Digital Learning | Affordable Excellence | Trusted by Thousands**

Solutions

- Correct Option: (D).** Expand $(A-I)^3 + (A+I)^3 = (A^3 - 3A^2 + 3A - I) + (A^3 + 3A^2 + 3A + I) = 2A^3 + 6A$. Since $A^2 = I$, then $A^3 = A$. So $2A + 6A = 8A$. Thus $8A - 7A = A$. (Wait, re-calculating: $(A-I)^3 + (A+I)^3 - 7A = (A^3 - 3A^2 + 3A - I) + (A^3 + 3A^2 + 3A + I) - 7A = 2A^3 + 6A - 7A$. Since $A^3 = A$, $2A + 6A - 7A = A$. Correct option: (A).
- Correct Option: (A).** $a_{ij} = \frac{(i+2j)^2}{2}$. For a_{23} , $i = 2, j = 3$. $a_{23} = \frac{(2+2(3))^2}{2} = \frac{(8)^2}{2} = \frac{64}{2} = 32$.
- Correct Option: (B).** Let $B = A - A'$. $B' = (A - A')' = A' - (A')' = A' - A = -(A - A') = -B$. Thus, it is skew-symmetric.
- Correct Option: (B).** $A^2 = \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix} \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix} = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} = I$. Since $A^2 = I$, $A^4 = (A^2)^2 = I^2 = I$.
- Correct Option: (B).** $A^2 = \begin{bmatrix} 5 & 4 \\ 4 & 5 \end{bmatrix}$. $2A = \begin{bmatrix} 2 & 4 \\ 4 & 2 \end{bmatrix}$. $3I = \begin{bmatrix} 3 & 0 \\ 0 & 3 \end{bmatrix}$. $A^2 - 2A - 3I = \begin{bmatrix} 5-2-3 & 4-4-0 \\ 4-4-0 & 5-2-3 \end{bmatrix} = \begin{bmatrix} 0 & 0 \\ 0 & 0 \end{bmatrix} = O$.
- Correct Option: (B).** Symmetric: $A' = A$. Skew-symmetric: $A' = -A$. Therefore $A = -A \implies 2A = O \implies A = O$.
- Correct Option: (A).** $AB = \begin{bmatrix} 1(2) + 0(1) & 1(0) + 0(1) \\ 1(2) + 1(1) & 1(0) + 1(1) \end{bmatrix} = \begin{bmatrix} 2 & 0 \\ 3 & 1 \end{bmatrix}$.
- Correct Option: (A).** $A^2 = A \cdot A = (AB)A = A(BA) = AB = A$. Similarly $B^2 = B$. So $A^2 + B^2 = A + B$.
- Correct Option: (A).** Matrix of order 2×3 has 6 elements. Each element has 3 choices. Total = 3^6 .
- Correct Option: (C).** $a_{12} = a_{21} \implies x - 1 = 2x + 3 \implies x = -4$.
- Correct Option: (A).** Let $C = AB - BA$. $C' = (AB - BA)' = B'A' - A'B'$. Given $A' = A, B' = -B$. $C' = (-B)A - A(-B) = -BA + AB = AB - BA = C$. Hence, symmetric.
- Correct Option: (A).** The standard formula for the inverse of a 2×2 matrix is $\frac{1}{\det(A)} \text{adj}(A)$.
- Correct Option: (C).** $A' = \begin{bmatrix} 0 & -5 \\ 5 & 0 \end{bmatrix} = -A$. Hence, skew-symmetric.
- Correct Option: (B).** In an $m \times n$ matrix, each row has n elements. Here $n = 4$.
- Correct Option: (A).** $A^2 = \begin{bmatrix} 10 & 15 \\ 15 & 25 \end{bmatrix}$. $kA + 5I = \begin{bmatrix} k+5 & 3k \\ 3k & 4k+5 \end{bmatrix}$. Comparing $3k = 15$, we get $k = 5$.
- Correct Option: (C).** The transpose of the sum of matrices is the sum of their transposes.
- Correct Option: (A).** This can be proven by induction. For $n = 2$, $A^2 = \begin{bmatrix} \lambda^2 & 2\lambda \\ 0 & \lambda^2 \end{bmatrix}$, which fits the formula.

18. **Correct Option: (B).** Scalar multiplication and transpose commute: $(kA)' = kA'$.
19. **Correct Option: (C).** Matrix multiplication is not generally commutative ($AB \neq BA$ in most cases).
20. **Correct Option: (B).** $A^2 = \begin{bmatrix} i^2 & 0 \\ 0 & i^2 \end{bmatrix} = \begin{bmatrix} -1 & 0 \\ 0 & -1 \end{bmatrix} = -I$.

www.udgamwelfarefoundation.com